Mdl = O &0 AF 2 EH Al M
20098 & =0l &k LB A
M AYUBHADE NSNS
B MYALI WS (SYHYL/YY - GE)

oo MElARA (er9: @8
S E O (EH) - MBAIY - B Of o e Hl R =2
SMEBFHAIHA ARXE 20,606, 135 16,595,896 4,010,239

= 8,966,509
s 5,550,400
& 6,089,226
ARAAI B RH (sl Yo/ - ME) 19,798,249 15,759,302 4,038,947
= 8,966,509
s 5,550,400
= 5,281,340
MEAMEFY 136, 160 117,882 18,278
= 67,580
& 68,580
=JtR 0| 135, 160 110,942 24,218
= 67,580
& 67,580
401 Al &HIZ20YI 135, 160 110,942 24,218
= 67,580
& 67,580
01 A&l 128,250 104,834 23,416
BEP/EDI 128,250
= 64,125
= 64,125
02 Zeltl 5,810 5,000 810
Ozt 0] 5,810
= 2,905
== 2,905
03 AlZ=0Hdl 1,100 1,108 A8
O=2JtRJ| 1,100
= 550
& 550
MEMESHYR 1,000 1,000 0
202 O4Hl 1,000 1,000 0
01 =Woldl 1,000 1,000 0
BESIEPIEFINE 1,000
METHREH 6,957,403 5,851,969 1,105,434
s 5,550,400




SA: NYEAAD NS
M MEPAI SR (SYHSS /Y - ME)
el AR TR T CEEED
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
WEPCESE = 1,407,003
o ALY 6,938,000 5,830,600 1,107,400
= 5,550,400
= 1,387,600
401 ASHILLHY 6,938,000 5,830,600 1,107,400
= 5,550,400
= 1,387,600
01 Al&H] 6,725,700 5,657,432 1,068,268
O T A 6,725,700
2 5,380,560
= 1,345, 140
02 el 149,860 110,198 39,662
2 S AN 149,860
2 119,888
= 29,972
03 A&yl 62,440 62,970 A530
O T Al 62,440
2 49,952
= 12,488
NEPGE 19,403 21,369 A1,966
101 QI2AHl 1,943 1,909 34
10 JIZHIZNELS 1,943 1,909 34
OYS AR EHe S
38,8502 12§ ¥52 103 1,943
201 Lur2y| 3,000 5,000 A2,000
01 At 22l 3,000 3,000 0
Negag 3,000
OYTHHMA A %Y
100, 0002 %3 %103 3,000
202 OiHl 12,760 12,760 0
01 =Loit] 12,760 12,760 0
WETINPENE-E ST 12,760
203 ARFXY| 1,500 1,500 0
08 ANHFZAL2EY| 1,500 1,500 0
DYEALYL =AY 1,500




SN MYBAADY NS
M MEPAI SR (SYHSS /Y - ME)
ol AT A (St5: & 2)
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
405 THEFH S 200 200 0
02 SATYYI 200 200 0
JYEAMAHREN 7Y 20,0002 %102 200
ARTHOH O 2 = T 12,704,686 9,789,451 2,915,235
= 8,898,929
= 3,805,757
AP AL 12,390,492 9,762,879 2,627,613
= 8,673,329
= 3,717,163
401 AlSHIL 2O 12,390,492 9,762,879 2,627,613
= 8,673,329
= 3,717,163
L 12,081,846 9,477,831 2,604,015
DA ALY 12,081,846
2 8,457,302
= 3,624,544
02 22l 226,459 179,609 46,850
DA ALY 226,459
2 158,507
= 67,952
03 Al&=CHH] 82, 187 105,439 £23,252
CAF ALY 82, 187
2 57,520
= 24,667
R R 32,194 26,572 5,622
101 Q12| 6,994 6,872 122
10 JIAHNZ2HSES 6,994 6,872 122
A AR B X0l 6,994
OAZAI I E F2lol 2
38,8502 %1 +52 *103] 1,943
OAZAS &R 2 TelI=e
38,8502 +12§ 1302 5,051
201 Lsr2 | 9,000 5,000 4,000
01 At 22l 3,000 3,000 0
CIAFZE AL & H A AL 2 4 &
10,0002 ¥3 *103] 3,000

_3_




SN MYHAADY NRI
M MEPAI R (SYHSS /Y - ME)
el AR TN Ol = (5 &2
MNuE o
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ofl At ot Hws2
02 222l 6,000 2,000 4,000
X2k Bt 500,0002 1 CH+ 122 6,000
202 OiHl 13,000 13,000 0
01 =00l 13,000 13,000 0
CIAHE B X AN AR OF b 13,000
203 AREXY| 1,500 1,500 0
03 AMFZALFAY| 1,500 1,500 0
DA ESRNLASAL SR =T 1,500
405 THEFH S 1,700 200 1,500
02 AT 1,700 200 1,500
OAZAISF2E N R Y| 20,0002 *102 200
(AT (A3) 1,500,000+1CH 1,500
NERFRYT2 282,000 0 282,000
= 225,600
= 56,400
401 AlEHIL =20 282,000 0 282,000
= 225,600
= 56,400
01 Al&H] 273,880 0 273,880
Ouemsez 273,880
2 219,104
= 54,776
02 el 6,090 0 6,090
OueNszees 6,090
2 4,872
= 1,218
03 Al&=CHl 2,030 0 2,030
mREESE RN 2,030
2 1,624
= 406
HHSAAH (MYBBARA N2XIR)(IEHIIE 807,886 836,594 £28,708
oz 2| 699, 505 652,060 47,445
ol 2| 699, 505 652,060 47,445
101 Q12| 663,825 614,460 49,365




SA MPEHATH AT
Y HEHAH (MHEZBARR MEXIH)(IIEH/IIEH
el 2| Bl EE
S HE - S(EH) - NRAY - BES e
01 JIEs 355,244
[IR=== 327,917
053 (0= ) 2,961,300 x1E~ 123 35,536
O6= (85 ) 2,534,500 *4H 12 121,656
ora(18zs) 1,990,300 *4H x 123 95,535
O8=(65=) 1,213,700 x2H * 12 29,129
OJls8=a(2258) 1,919,200 x2H x 12 46,061
O&= 27,327
O&dz2=¢ 327,917,000& *1/12 27,327
02 =% 68,990
Oxzu2fg 32,418
OAte 2R+ 32,418
-HH= 8,312& x13H x10Al 2+ 123 12,967
-EZUE 8,312« 13 *15A| 2+« 122 19,451
OFA=H 36,572
ON&E=d 9,486
- BHS A 40,0003 x13H «0.78«12& 4,868
- 220t=E 20,0003 13 x1.48%12& 4,618
OXHsHIE XY 3,791
- S 51,4003 13 +0. 19%43] 508
- 1SSk 420,790 *13H +0. 15%43] 3,283
OFZ=Et= 11,880
- 2549014 130,000 2 x 12 3,120
- 203 01 &~25E 0] Bt

110,000 4 123 5,280
- 159 0l &f~20& 0] & 80,000 x3E « 123 2,880
- 53 0] &~10E 0] 2F 50,0003 x1H«12& 600
OUsER3=+E 6,735

-53(3188)
2,961,300 x 18 *4.8/100+12& 1,706

- 63 (2095 3)
2,576,200% x 12 *4.8/100+12& 1,484




SN NYEAADA N2X
M HNSAAH|(MESEARE HEXS)(DIEHIIE
o9l ol 2| Rk
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
-72(2252)
2,132, 700& »2Y x4 .8/100%12& 2,457
-Jls83(21e2)
1,888, 1002 *124+4.8/100+ 122 1,088
Osxg224 4,680
-J|l2gfsY 3,120
o= 50,0003 x1H *x12& 600
- 673 30,000& x5H «12& 1,800
- 893 20,0003 x3H x12& 720
-J|l=gRasgot3 1,080
- JIAb 30,000& x3H x12& 1,080
- NENSHUBHYRLY
40,0003 x1H*12& 480
03 HHZAH| 20,280 23,400 N3,120
O HZ A 130,000 13 = 12& 20,280
04 WEEXH| 19,800 22,560 N2,760
52 140,000& x1H =122 1,680
Le=~72 130,000 7 = 12& 10,920
[18=20lat 120,000& x5 x 12& 7,200
05 Y&ESIHHI 32,792 32,742 50
OYE S| 327,917,000& %1.2/12 32,792
06 JHAHRXI&HYI 54,653 54,571 82
CIDFAI R 2| 327,917,000 %2.0/12 54,653
07 HJE A 17,080 17,054 26
OS2 AtH| 327,917,000 x15/288 17,080
08 JIEIAE=% 75,078 44,689 30,389
OF|MSES A 75,078
os3(14s2) 1,627 ,4003 x2H 12 39,058
Oau2 3,255
-8324Y 39,058,000 x1/12 3,255
ONZ D LT 4,988
-HHM=E 8,312 x2H x10Al 2tx12& 1,995
- xE 8,312 & x2H *15A 2% 12& 2,993




M MYBHADE ATNE
A HY2IFGH (M ARE A2XR)(DIEHIIE
Cro: oIz e oty) oL
S ED .S (B0) - NRAY - BAS 0f b e H RS2
(O ===, 2,400
- < Xt 40,0003 x2H«12& 960
- 22AE 20,0003 x6E x12& 1,440
OXtH st =5 206
- SEhM 51,4003 x 18 x4 3| 206
O&EZ+YIet3 1,560
- 15801 &~20 0] 8¢ 80,000 x1H x12& 960
- 10501 &~154 0] B¢ 50,0003 »1H«12& 600
Ollzgea4 20,000 x2H » 122 480
O& M ZAH| 130,000& «2H «12& 3,120
OunE2 x| 120,000& 2H =12 2,880
OZE=Jthl 39,058,000&*1.2/12 3,906
OIHAH R & HI 39,058,000 *2.0/12 6,510
OIS &H| 39,058,000& *15/288 2,035
OXZExHI(82013t)
105,000& «2H *12& 2,520
Ol o &=l 50,0003 x2H = 12& 1,200
Ogwot E2< 80,0003 x1H«12& 960
IAHLZZ N E S 19,908 21,083
OXSESS2ZAIA 19,908
OPIE=3= 38,850 »1H «25524 9,907
(OFSJE=, 9,907,0002%1/3 3,303
O=Fs=g 38,8503 »1H »52 2,021
Ogxt=¢ 38,8503 1 20 77
OKtE ES =4t I
20,0003 x1H 10 x 123 2,400
O4liAte 28 1,500
203 YRFL&Y| 3,520 3,520 0
02 HAINMYRFEYI 520 520 0
ORJAAD & & Z Y| 40,0003 139 520
04 PEN2ILRFLEY| 3,000 3,000 0
OJ| =M (150l ot) 250,000& 128 3,000




SN MRSEARE A2
M WHSAAH (MRS ARXH)(OIEH/IIE
el ol 2| (cHel: &
SN HABA) - MRAMY - BES Ofl & o8 glggf; HnE2
204 AR FH| 31,200 34,080 A2,880
01 MHASgR=aBY| 1,800 1,800 0
5= 150,000& «12& 1,800
02 Ag=2xH 22,200 23,880 A1,680
053 250,000 * 12 * 122 3,000
Le= 155,000& »4H «12E 7,440
073 140, 0008 424 128 6.720
8= 0lat 105,000& »4H «12E 5,040
03 SHALLHESH] 7,200 8,400 A1,200
LItHel g sl 50,000& x 12+ 122 7,200
303 Za3 960 0 960
01 Za= 960 0 960
OER0L E5+E 80,000 x1&«12& 960
Jl2ddl 108,381 184,534 AT6,153
plE=E:L] 108,381 184,534 AT76,153
201 LEHRHH| 70,891 178,534 A 107,643
01 At22t2iH 33,624 120,074 86,450
pget=SH| 21,564
OSAENYLIIZALEZH| 7,500
OHYFSIYHUMNERSE
410,000 *43] 1,640
OLB M AR 4,000
OEUHsSAREd=E4 528,000 85 4,224
Ot E2 S RIZH| 1,000,000 *33] 3,000
ONEE=2SHES 100,000& x12& 1,200
Ded+d 5,850
Og =2t 50,0003« 12117 5,850
=gl 7,000 *15& x503] 5,250
Ogxt=z 960
O&=sJ|gxz 40,000 =20 123 960
02 3&=23Hl 37,267 58,460 221,193
OZZQ3LMA 20,200




SN MEBBAD 2T
HE: HH 22 2
2

ool Ol

22
J2

20
B
2

1,000,000 * 122 12,000
OFIINLHIIAH 222 S
600,000 *122 7,200
ONSHNLEEE 500,0002 23| +1CH 1,000
ezl 5,867
OF Ao 2|
1.52) Ef 1,357 882 1202 Al 2t 3[4 5,867
DA S ZHIR I 11,200
OASYAREI| )] 20000024 * 145 2,800
SEX-TETIE=1-] 200,0002! *122 2,400
OFASEr2] ZYBA 5,000, 0002 14! 5,000
OHSx Ha 1,000,002 *13] 1,000
202 01t 6,990 6,000 990
01 =Uhotdl 6,990 6,000 990
EREEEESSICE] 6,990
405 XhorE S| 30,500 0 30,500
01 RMLESEFSH] 30,500 0 30,500
(AN It R 7 el 30,000
ORZHAD 500




